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HIHE Jidt & HB3's 3 B9 €t fa 3 faus s feg yuz J131?

Jgfes &t gl B33 A Iet w3 fen gget feT fam €t g9 Jet?

HIHE Jidt @ € @ AUt & &F €/

wsed {38 € A /it W3 €7 § da< 3ot #uq & fegt et gf fauz Afog &
WMTUST ITHTTST SETfEmT?
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B3 F39E s wiga € i3 o< get? 8n e @ 39rfuardt d< gfemr?

B3 fegzg3fim & fan Vo® 837 €@ ov8 § efemr »3 Ene fan emie § fest fev
& ©< 3 feasara d3T Hl?

RS fesg3fum @ 9 »ilat Bt goe o9 fam &f €t =33 15t A7 B ait?

23 fesgshim & faos © fAa g7

< 9895 & fauz € yent i[9 swarest § gufenm?

D3 HSHT <0 € AgUsT fan & w3 ae J131?

& O3 nE353 © fengg et faud F83™s € % AF 3 HY 3=YTS J7

¢ meETEs fusH € € yfi T RsTugit € & ER?

< P Tt fodg & fA3 % faust Sa arar Agfuzs 37 €7 m fads €3 fam
T I H?

RS IIBI < € Ufg® € HHaT & &T IR 7

3 o3t IZ353 @ U35 o gfemtat a9% ot Ai?

3 HIHE fas a8 & Tue 9 faus a9 § mrust g+t gauTat gerfenr w3 few
or &t & ghpr?

% O 3T AB3S HoHe-fas-3a@a 3 faf saa na?

3 HoHe f9& 391%a & fauz Ag™s 3 Aaf3a Hedr Iue! w3 feg faost o3 <t At?

% YIS IIBA AR € Jf & it w3 EHET IH a€ AU Jfemm?

% fedd Fo@a €t W3 3 ge faus € a< B339 a7 AETUI Je7

3 IHd 9d% faH ABIE & 1377

¢ A8363 T% fe9 Judt fan § afde A&’

% AU IH T HE d A €W & fest €3 a< mifgarg st

% gaoled fag I w3 few Tt fastnt fifast 51

& g39HiaTd &t EAdt € wdg fan & 19T w3 fem & yar fam gwimar 3T fam?

3 fe gt feo fags € <0 € A8a T € Hagd fHee I&7

95 f3d yst re™s 99:-

1. Sofes S endt g3 feg o, €t g9 It

2. SR SESI IR R - SO o AETU3t A

3. fesgshma ... YOI® 837 € OH® & e

4. fesg3fum @ gga mlat S ame fee ... B &8 HrfemT Arer /|
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95 fou yast fe< Aot €739 & 9< a49:-
1. HIHe-T95-39@a & I © fAa © Ags 3 faust o3 &t year Ist?

©) Tt (M) AT

(g) 3T (A) BT

2. gHd 9% faH ABIE & J13™?
€) w3uQdis wEw (W) wWaT
() WITIrSt () Aedt 837
3. TH SR @ A% 3T fe9 I €H SF € A% 3T &dt HI?

®) Hfoye amsst () fesgsfm
(€) F3FeleWE (H) IBI5

4. 3afes €t ufost 3t ae 9ei?
(©) 1190 €. (d) 1191 €.

(€) 1192 8. (A) 1194 .

35 fafnt f&9° faos aus sta At 8T 75:-
1.  fergnit Aoz € &3 § arHt fagr Afer /i

2. el Tt fodz & fa3 % gt uenat < arar ysfss I
3. Higa agq fea 993 fasg geng /i
4. HoHe fo8 3a8a & Ty feg e<fardt § »iruet aauTat serfenT|
5. femsgafum & o’ 3 ‘HI3®’ e fAa 95T
9
TuSt 993 € I

23 133t A<l feg TUS € © HY ITA=HT € &F ©R7

RS TSIt € TH W T € HHAT © &T TH?

RS farmg s € AN 9918 M3 € AHEd © AT & & ©R?

&  IszEe ¢ wfuadtt € gre § &t faor #er At w3 €gF & fan s fea p339
I™H € AgTUST 1317

2 ITOHST ANTTTH ST © ITHTTSPHT & &T TR 7
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3 T AN I IH JI& T8 qTl & TTIHST A8 IS & & TR?

B3 TOHST A%3&3 & AT 3 Wl V34T @7 &7 ot At w3 €7 faw @x 3 mifemT Hi?
2 TIHST B 376T & ©d9d feg g fags © aret feg =3 38 As?

< Hfoye w9 € oW I8 &9 goHat AHaH faoz € o+t feg 2fam fapd At?
<+ 999 3 faeqd & faos nat i[9 Tue &t ng3a3t & a3y famm?

% Tye fe9 mig w3 Judt <t g faus st &t 293 13t AT A?

< gOHST AB3&I et fenrgat € faus € 39T € sus fse 97

RS ferd &I1T AHI™H © € TTH<HT € &T TH?

% fer 539 ufae fan =<t © de €3 e fapir w3 fer o Aimgua d< Hi?
RS fer 5919 AHI™H © UfJ® TTA=H € © A9 3 WaT AT & &F R

o feradd AHT™H € A 3 YT A d< /it w3 €9 faus aaew fes Ai?

B3 fqrs €= a8 ge feraae € AHaTe gfewm? Gret IHurt g Jet?

P IBde & 3t fan-fan € fegarg Jet?

< fersde AHaH feg srfeat (A3T) € fare3t fagt At w3 €9 miae & nilssT
In ot fee As?

&  fersae e feg mifaardtit § 3sug fan gu fe'e fest At Al?

< fersad A T HEt d< /i few v A9 3 HoTes AT dS HiewT AfeT 37

» s = I€ & feraae € 3 »uSt W3 © & 3 faus &d19 € AgrusT Ji3t?

75 fad yst Ags g9

1. 13 Aet e et e e feg .............. H™H& Jder A

2 HOHE 95 ITBT € AN TUS SO ASST IS BT TH oo At
3. Afus €= € JfUST I7 S FEUST ... &el € &3 3T

4, 3 H1Td ITIHGT ATHI™H ST I TS PHT A |

5 TIHST AS363 € AT 3 WA W3 &7 & ..o A

95 fou yrst fe< Aot €739 & 9< a49:-

1. fefiadd AT € &rfear € fareat faat /e
(€) 100 (»1) 200
(T) 300 (H) 400

2. fqe €= I €7 A9y fan Ia<H &7 Hl?
©) wmafegsw () FBS=H
() IBSLH  (A) HIM=H
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3. fer 5919 AT feg 9t a9 & U 3 U &9 Sun e fas=t forr At
®) 1/2 () 1/4
(g 1/5 (A) 1/3

4. IBIde T YU de JfemT?
(®) 1565€. () 1556 .
(¥) 1575%¢€. (A) 1585¢t.

5. IIHET ATHI™H €7 Ag 3 HaT 1341 Hfoye ar=t faw mares 3 »irfenr A
©) o o) €S
(€) "MeAMeA3™s (H) UBfORIS

35 fafunt feS" fags qus ata A IBI I5:-

1. IHIIIT I Hed fenadd AHT™H & 926 f&aHe 98T € d'ed A& |

2. % Jrae siayq feg 31
3. HIH =X fedadId AT &7% HEU JyeT /i
4, feriaae = fmarua gdtaqd At
5. fevaae e A9 3 YU AAd fqas €= ¢ &4t A
10
A gafHa Wess

2 393 fe g mie™t yAeHs fagatnt € bt 3 As?

2 afge™ M3 st fe g fens™ U9s 96 8 € Sddr € & TH 7
RS SuTaa A3t fa g &t miafaa faeait €t 99193 Aa?

D3 9793 feg fers™ € € Auge=t @ & @n?

% Gov 39 fagz € fefimt € feves Aa?

RS Ewvr ot € fege faux € AI3T 3 WUTTd3 AS?

<  HE &9 g9t Hfewmer & gf fan § frmmer o' 3= fee Aa?

& e A83E3 € a5 fT9 gt € € A9 3 Ho 3=yas fasfafent € s er?
23 fonst fsd &t oto fam gt iy & 39t 3 feo fag =m are?
RS forst fs® a7 AEfuzs € Wy gt Ayt € &7 €R°

23 Hudr=g<! Mahs & a1 fan & w3 fag aul?
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< fonst fefrd % mifug 99 Yy get »rgmit € &F €R7?
»  foust isfis € € d=af € &7 fay?
2 HIMH 3 vy gu &9 faudtt € arst fegu ySHamm /e

< {7y fee Jousdt € fas Ha As?
¢ HUIBls 393 feg fend < faus & wiezat & ya yfia Ai?

<+  Iu-faus & yar fans »3 fag yafes ai3t?

< JH F913T ET YI'9 J96 B § 39t 993 € YA T 3913 faus A?

< g d[@ Aoy fee fAgt garst 3 A3t &t gusT=t Aivs Jighit arehit g5, Baf
feg gt €€ &t @n?

< A3 qdld m3 Ifeew A € ot Jf Un As?

<  H50° &% AYU3 € A3 € &T EA7

< I3 Jiffe € 34 d< AS?

J5 fay st rars g9:-

1 93 feg Ag 3 fammer asiforT ... HATSH AyeTe €t At

2 Fel 3 famAma ... € &<t 5% YA g As|

3 fonst frews S astg ... 3 T4t

4 ot Bar & femem ... 3 T 3 MUTfa3 A |

5 A&l 8 gTgdt Hfgnmer & Aq]T ..o Hfgnrer & =09 Ha'3= fee x|

95 fou yast fe< Aot €739 & 9< a49:-
1. wy &9 dioy a8t € a8 W Aa?
®) 15 () 14
) 13 (A7) 12
2. dig3s &t ygr fan & gg d13t?

(®) ITIBIET (M) TISWHIYF

(€) dHE= (M) He=
3. gHTSE & faadt g e ydar 41377

©) mfgz () fo=t

-~

() 3IBIT A) A&
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3913 U&7 faus yer 7% Hefu3s As?
©) €3Tyem (M) FOrE

(g) fagra () TANES
g&TIH &% HEfUg Ag & s™H €A |
®) e () IHEE A
(g) MlgwEl () 993 GaT Al

J5 fafumt fe5 fagl aus sia A7 B3 75—

1.

vk N

Y gdle #1 € Auy foust frens a7 /i
HJd™=d<! fA®A® € 3ed U835 3 89 feg Azl
‘fAsfAs’ 3 g7 Tar & WBar AryT At

HaPT € ¥y Ug &g Ugt 3 »w35E A |
JigUaETE HEPHT €T g1 Hi |

11

99 57sd Aoy w3 Ay g € rgrusT

J1g &7&d ATy € 761 e w3 fa g Ifemm?

J19 754 Arfog & A9 & yu3t fag 3et?

J9 375d ATfgg Ha ¥ € faus UF St €1 aTs dae Aa?

JIg #dTe €< ft €T HEST ™ J1 Hi?

JIg #aTe €< A &t Tafia Agdrartt €T d'e9 fagaT At M3 €9at & faus ang
<f 8nrdt 5 Ja=rEt?

319 »HIeH /1 & 88T T fagure fag aagarfenT m3 fen fee faatit et s?
AT &t rEUsT faas 9@ & 3 a< 317

#H3AT € 317 TUS T8 M3 AI=T € YT<Te! JIS8S T8 € Jg Adg s & &
fea?

wife dfg Aoy €7 Aass fdst & w3 ae yar d13m?

g1g Jadifde it €7 graar <t AHT ER7?

919 Iqdifee Arfog § faus v gen & faus fag fe' srade qaefenr /e
Ttons faw e U3 At W3 €9 faw Aqr 3 afae &1 funr /it?

919 gfgarfe # faw € U3 A& w3 BUat & gaare! & AHT & Hi?
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3 JIg MaAs €< #t 3 faux Hars greny & faoz mfoare &t AorfeaT er @n sarfenT At?

<  JIg 391 Sured AT & faudt uarst fonmg € fesa feT faos 5= any & i
gut w3 e fev fam & &7 yfrg get?

<  JI7 391 90e0 Afog § a< w3 fa e adte i3 famr?

< g9 Jifte fiw 7t €t ufost B3¢t fan ras €3 w3 faus g fega get?

< g difte fiw Mt & wrdeyg mfoe & pefvur set faos © fafgut & Gadt

13t A?
< g diffe fiw At & ugAr & AT a< 131 B fes €8f &t AeT few fag 8
T A&7

< g9 Jiffe fiw 7t @ 3 arfogafent € s en?
< g9 Jiffe fiw 7 73 73 a€ w3 fag mre?
<+ J1g Jifge fiw A St € HoS=Uds JeaT=t €17

95 fad &t mers 39—

1 AS3sUd feigg ssa e dt & ... T Hetus fe9 3adt a3t
2 JIHTE e o g feg A3t 73 e |

3 HHT YT S HETUST & 3T

4 319 Jaaitse fRw wt & A feg ... fasr gt

5 JId MHIEH Al & difeee s fey ... o fear gaerfenr|

35 fou yrat fe9° Aot €39 &t 9= a¢:-

1. Wa® 3y’ © fagnre faw gig 7t & Fg=rfen?
() J@»Ers e /Mt (o) g dife fig
(€) IGIHEHHA  (A) Jd Idaige A

2. g9 Jfefqus # faf € fas< aig A |

S .

®) 8 () AT
(8) "ol (A) A<

3. 99 39T 50w At § o Hdte s favar A
(©) 1675€h: (M) 1673 &t:

() 1665 (A) 1625
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GEH H3 € AFEUT d< A&7

©) fugstge o) Aige

(®) fgggs () WOHE

919 Jiffe i 7t & yrawr Tg &t rgrusT fag Si3t?
(€) wfi=Erg (M) wdeus

(€) ®dg () fesdt

Jo fafunt fe5 faus aus sla A7 B3 75—

1.

2
3
4.
5

nrfe dig Afog €7 Ha&a 1606 € feg 13T fapuri

fyet 9= 39 miars €= A er u39 A

HIT® AHT'E HIAdT & JIg Jaaifae 7l § I=8ma ¢ fas fe de 37|
fygtde & miguretnt § Wi fagr Afer /it

JIg MIAS €< Ht & IHIHT YHAG § wHig=Te fez A

12

HIT® ATHI™H ©F HETUST
HI® AHI™H € fef3um & Areardt €< 8t € A3t € A3t &t € famit € &t
oH?

993 € HI® AT MU Wy & fan e § 39 fuardt mise As M3 67 & aAuat
faaat At?

gyg @ fuzr v &F ot At w3 €1 fan foumz €3 o+ Jger Ai?

feggraty But € fedut € Aaeaf & &7 @7

fegamaty Bt © &% 99 & 3 fa g W3 g JE?

799 M3 IIT A9 fegdd s3et fa g w3 faus As feg 9ei?

g899 & A" 3 fan i agqr o137 W3 67 & W3 a< Jet?

gHd © gfentt fe 9 Ag 3 €37 a< AI?

oHY € fagz € for3eet & 8w € fegu fewdu aizm?

IHY & IS faus s3I fafau /it w3 €7 fan & gran serfenm?

"9 ut fan qei® 3 Mt »3 Bn & mg feu faus fega feg »must 33 afer
F3t?

ford & fars © a3 fee faus fag & war ufen w3 feo fan € auw fea /t?

fors w3 A9 Ut fega'd € SHST™-J& BIEHT fa g JeEhnt?
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< HIHT & MTETHTEL € i8I BEt fagld € aH J137
<  HIEY 3 I9s € g iy & faw &n € fagl w3 Hew fat?
< wogd °f ITHUH fag I8 W3 €9 2% O <t O1a &t Ai?
< nd9d € AIYAS T &f €A 73 faus et few 8Fer wing gy faur?
& »dEd & MUla3T e T3t & IAYS formst € & gn?
& MJdEd & TyS St faugnit € Ag3a3T § MU =A% gAY
% AF 3 UfgsT mdeg & MUila3T Has T8 euS € fan 7 & aAg /it M3 G e
&t &t Ht?
RS HITid T HE&T & o1 At i €7 o< aret I gfomm?
R AUTING & gardT &% Je feng 3T w3 Brer ufasT & ot Hi?
*»  gongt & fugTer st ER?
3 »foHEEad fIas Te7T € AN M3 < HII® AT feg fHsT feour fapyr?
¢ HIAYT & HU Rt & fA 3 set faus Arfogarfent § w3 a< gfmum?
¢ HIAJT € @ Sfent € &F A7
<« 3fuardt ergu ae Ifemm
o AaHdT € I faa= As fe g y A famm w3 €9 a< Ia faer faor?
< nidaay vyue fe9 fan e 3 fan s 3 faam?
B3 WMIIHyg & SiATYg e fAfawmT w3 fer e Wydt As3TS d< Hl?
RS WMIIHY & JIBIST qa° fA 3T mMI fer @ wmydt A83'S d< A?
95 f&d yat rETs 99:-
1. gagefugT ... AES € HTAA A |
2. OFEEl . & wag AT A
3. I T &3 . AT
4. I793 © HIS HHT MU MU S ... T 839 fuaTat ST A |
5. 3UYTS ©F 93 AT 3 UUST IS 209 ............... RECIEIR
95 fou yast feS Aot €39 €1 5= d49:-
1. WMIET T TATSSA fa g JfemT|
®) fe8t () FB*ET
(€) BYd (A) WiH3Aa
2. UShUg T gAT WU g Jfemm?

) 1526 (M) 1585 &t
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(€) 15728 (M) 1556 &

MIAIT T HI T a7 fHIAT JaH faE e HAa A

€) wearferas (o) SBforss

o

(T) TS () odU4g

HTd<T3 & ITHUTST ©T JT &™ HI?

—

©) Aug () AuUd

(®) STy (7w fod=
WMIgd & IHIIBT AN €At g faat Ai?

) 13°A® (M) 157%

() 25°A& (H) 18H™®

Jo fafunt fe5 faus aus sla A7 B3 75—

1.

vk wN

T%3 4T B4t IA™ ©F =TS &It At

HE™3 © HA3HST TR €7 &™ J7T Aig A

T99 3 fegarfod B4t fegard U qaan3d feu 1526 &t feg JfemT
g9d € 979 U 3d A |

WAEd T HIYAS S Uf A& |

13
HAT® I/ YSTBT € HTHS Y§T

HIHd 83 3¢ TA3Y3 J13 a8 w3 fen feg nwigga & ot mirfepn fapum?
MIET & I HABHST 3 BT A 8 faos € g9 A3 a3 fe3?

Wagd & fag=s € 3¢ © HoAY g7 fe37?

500 3 TU HaNY B et &t fareSt fast feg J<t Mt w3 wiage © € yfRy

HSHYTTdT & &7 9 H?

WMJIHY € AN 3 AHT™H & I & MHEST aF faaT forT Aaig feg fegr Aarer /t?

HEHEETdT M3 Hdt JrauTfant 7% AEfu3 € W3dt € &F @n?
WaEd M3 Wdaay AN Yi3t & fare3t faat mt?

ol fan UTg e wifaatdt At w3 fem & vy o &t /t?
Judt fagt fegara a3t e aH feer At?
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ue=Td! fam &% Aafug faaas gyer Ai?

RS Ugrfeat faagbd € Uuat 3 3918 &fA e Bt AS?

RS Wagd & A faaF I €t =93 13t A /T W3 €1 faw I = gfewr gfewr /e
% YIS AIA'd GGt € faus € ya9 € aHT 3 US Y99 Il HI?

RS wIEd & fausT a=t Afgg TATemT M3 8F &t feHgsaTdt e fed Araed sHs™ ER7?
<+ W3R T ¥ fagT fans ge=fert w3 faus geno & fen § <37 ggerfen™

& IHY M3 WMdEd € Ha9d faadtt g=t 3 957

% nidamy & fagIht © wrfaet e feaas aaerfemm?

RS HIHIT @97 @ Y-S Y HfgdT feT gyt geht € Heq fenaat faasint a7
% HO®AE © € YAy fezgaat € &t fay?

< fgu= € yow® genTt § A3 AE s ©F B HI?

<  MJYd € AN SO © € YA T It € 5T ER7

3 HI1® I fe=megT W3 yaHs & Aredrdt € Ad3T et & famit & af en?

95 f&d yst rETs 99:-

1. HIT&BT &1 I H Y&t ... YST8T €T 9931 gui3d AT

2. WMIGT & FT-HABHST I BE AT THB......... a3 INTU3 99 fe g /i

3. H&EAgETdT & 9937 .......... JaaT A

4. 7 ME HI® TEAY € wUls JET AT ORS L fagr AteT Al

5. MY € TS @9 TANS T HITT ............. & fegr fapumi

95 fou yast fe< Aot €739 & 9< a49:-

1.

I&5g3 Y8t 3 & FE J7?

®) TR THB T e AT FEIT () YF THS I weH FTEIT
(g) wdfiz<tens (M) A9 feza €t ens

A9 iz €t fed ot ens € a1 wigHs & faost yeat afde as|
(€) AT Y@t (%) weTE ySTHt

(8) T&IA3 () "Iy st

WTaIg @7 B fasT fan & ge=fomT?
(€) wgfafld () T
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o

(8) WIAdt (A) MAdamy
5. gf3guqg Hiadt nfag fam geng & @AfemT?
(€) widamg (M) waEd

(€) #JEitd (A) HIAIT

95 fafunt &S fags aus sta A7 B3 76:-
1. HI® I8 f&9 ardadr ugars e wifuarat /i

2.  HO® B fee ads faust As|
3. »dgd € A AHts & fare3t aos @37 o 89 e gfenT Jer A
4.  wIEd € AN Qur ©T 1/3 fow Bars € gu fee faum ater /it
5.  geret yorBt fe g ens € f3w fofmit fe9 € fow Aeaa 3t A
14
oye f&9 st madtt e Guas

< faeH @ H3T-fugr @ &7 |t Hi?

<+ At & faust fe9are § fenm w3 fan vars Aeust & garfenm?
»  fael & vt &% fagdt Adt JSt M3 feo faw &t Jfmmt a7 Jet?
< fae & 3TAUH g€ 9 w3 Guat & faust Gutt ues J1S1?

o fa=mdt € g ae get

<+ faet € 36t 3% § &t faor Afer /it 3 87 & yurs de H?

RS "y fan €7 ger /it w3 67 & »ruet gauTst fagdt geet?

< WY&yt URT fan § w3 g gerfenm?

< 183 Al € € HO3=Yds URe= € 5T €R7

3 faax € Uaer=t @ AN HafenT & aa3t vy fayat 3 udg aret?

<+ 1740 g 3 Ufgs Hafont & €39 3793 € fauz € fesfamt 3 mrust ygr 3™ Myt
B

& Usiu3 &t S 33t a9 3 fagt fegarg 9€t?
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o J®ad Agewd fan fesa 3 I7 gde A w3 89t <t aAuTsT fagst /e
RS UTatU3g € B3Te 3 g &< UAST @7 ol &7 At w3 €W & aAuTsT fag /e
R HI'ST faas Ha® gerT § W3 a¢ fEst & F mme?

& WFEw & fegt 3 g€ wfua Fi3T M3 f993 o genw § muS ys'e 95 &
f&mr?

23 fea-8%-yoa Hafent 3 faazbt © s3vebut grfonm?

% JET MBI w3 faw I T vy AaTuSt g< fapur?

& JEI Bt & HIfett 5% BB a9 a3t w3 §ust & fasT gfum g s fenr?

% Jud W&t € i3 g« I8 w3 8w © € 39fuardt er &7 ot /i?

J5 fau st ravs g9:-

1 faedterdaT .o g, & Ifemr

2 faetefustdter o™ A

3 faet & iyt fAstusftwe e ... YEH 3 M4 A3t
4 faedt & 16648 & ... godard § Bfenri

5 fa=THt mraraT fey 1666 € § HIB TEHT .............. & &

95 fou yrst feS At €39 €1 5= d49:-

1. HYg &MUt IATST fan g & gerfen T
®) fest () IBIIT
(8) A39T (A) SH
2. U3 © A e ae 9E?
®) 1761 € (M) 1757 €
(€) 1526 € () 1556 &t
3. wEEHt & et 3 wfuarg g9 3 g fan Hars greng § Mrue ygre 95 e

(®) HT B AT () MIamy

(€) TIYHHT () ¥J7<d °H'J A4

4. Jeg m&t e @39 fuadt d< Hi?

() AUEB3Is (M) HEIHAT

29



5.

(8) g H (7)) | H
‘Tg’ Pt Bars e fds=t fonr ger At

€ s=t () g

(g) A=t (A) Moo=t

J5 fafumt fe5 fags dus sla A7 B3 75—

1.

vk N

faert €7 TAf3®T 1674 € & grears fey Ifewri
et & H3 1680 & feT et
faert € 13dt 138 & I8 fagr Afer /i

A7y faeTdt =@ y'3q /1
T%H feresE AsTUst A |
15
€39 feg st maatmt a7 €as

18=t At € fef3om o9 genYl 9 A9 3. Ho3=yds fauz faust 9 w3 feu
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IHI3 W € fI93 979 AINTTS 16 ATHAT &% ITHHT HET A& ?
deH13 fiw faoz Wiaew aIedae 7598 & fag ffenr mi?

etz fiw € € § 39 faardtnt € &F ER?

I3 firw <t W3 o< I8t w3 &J9 I3 7 i3 e gfemT?

J5 f&d yst Ags g9

1. HIgHT Iedts W e daH ... g feg Jfem

2. HOTH dems w s sda St fag ... ot Hee &% yU3 St

3. JeA WSt H3T e a™ ... A

4. HITHT ISHIS AW & Bargar ... yarSt fomat €73 mifuarg a9 femr /i
5. HITI™HT I&d13 W & Wiaeat a7 Adt ... T AES 3 J13T1

95 fou yrst feS At €39 €1 5= d49:-

1. deHI3 fAw € AN Ugas © WY rifgardt § &t faor Afer At?

33



2. f383=® € nde 3 de faganms fagr Al?
®) Tw fours i (o) Tt fiw ss=T
(®) w3 fas () <gnar

3. Wf{3HJ € AUl AN WP €7 F91S d< HI?
(8) TOBHHeA® (W) TIBH sUMHa
() WA T () sty

4, 3= Ut Aut ae gEt?
(€) 18398 (M) 1842 ¢h:

() 1849%: (A) 1838 gl

5. 1831 & feg fan Id=sd A5d® & HITTTHT I3 AW 578 YaTara ai3t?
©) BIFIT/ABT (M) BIF feztny §féx

() B3 3BIAT (A) BIS IIHE

J5 fafumt feg faul aus sia A7 B3 75—

1. HATg 9€ J29 3 derts fiw & wieq e fas™ yruz i3

2. HITIHT ISHIS AW B Jaura Mend Aad® <5347 AT |

3. I3 fiw mmuet AsT & Adfiat 3 saet € gu fee sy féer A
4.  HITHT ISHIS fAw & 1809 & feg g & fafamm

5. g1 MAAE s HaTaTAT I=HI3 fiwr = AsTu3t At

17
Faulst € WIS 3 AI=-§ 93T Bt Awan
R HIAGHT EHe-fEshT Juat © fuTfad faames fam &7 5% A'E AT I& w3 feg fag
Sumay g5?
¢ 393 € UaHl faad 3 udue =% ufosT gout de /it w3 B fa g ugfenm?

34



YI3ars € B €HE TaH € fan Augee § fae As 3 67 fan § »ue uafva
33T H&E AS?

9793 fe9 UIIIMBMT € € HI I<YIS J€dt &7 & TH7

fom voraty feg fam @ € 9% &% yI3arshdt €t 993 fev fesonut we g
aret?

39 &aT @ IUTId HAIS& ET At &7 AT w3 feg a< gfemm?

WA & FUTTIT AATEE €7 ot &7 H w3 feg ad” gfemm?

HIT® g AdTdia € €999 feu fan waew ySifett & w3 a< suraa fonrfest
YU3 J9& € MASH dfad Ji3t?

He® Jfemr?

WO FUST Tt HEa™H W3 I&a 3T St Sdedtit g AETfug gei?

ae fufemr?

fam gout ew & A9 3 nrile fe'e 993 fe9 mmust sufaa duat rarfuz &i3t?
SITHIHHT ET € WY sdedtt faggimt As?

gaaTed of ufast samet fagt & gout quatt feg 53t aret?

JI&Ted € gH BIE € E9'6 SIHAMT & fagt € ISt aHT € garfadt e
fomr fgmr?

daaTed |t Indt B3ret fe g WAt & SgTHHMT € faul € Wy d'egt 3 J9aT &9
f@&n it

fAege®T fa 8 e ATAd /T w3 fen & fan #ieew eaedt 3 oHaT i3

faat @ WAIdH MeHdT & aBd 37 3 HI Tgd™ a9 f&mr?

UBTHT €t BITET 9 BT ITEN?

goHd €1 3¢l I B3 IEl?

HIHT T I € g€ §aT'5 © © J oUIBT 57T & &T TR 7

fan #argn »iend & 9o Hare gy 3 gars &t dieTat & wfugrg yruz 37

dI=Tat € 928 MAddT & HA® TenTd § dt €T H& famm?

75 fad yst Ags g9

1.
2.

WIgHT e feshrT qust € sufaa faaas ... T & EE AE 7Y IS |
gaufeggaa et ... CICER:OERCIR I
AUHdst BT feny feferrmsT ... feT il I&dt Tt merfuz 3T fapum



5 Yd3d® € B CIHTET UIH T ... AYdeT & MSHTE AG |
95 fou yrst feS At €39 €1 5= d49:-

1. fon gt € & 993 fe9 A9 3 gmie e suaa quat rerfuz A3t?
&) TBF () e
(€) SIH () IA
2. gaaTed €t Ufast s3met feg de fafanm?
(®) A" () 39
(€) TIHMT (A) UIIIrat
3. UmTH & BIE ae Je?
(©) 1857 € (M) 1957 &
(€) 1757 € (A) 1772 &
4.  99AI & BIE g IE?
®) 1764 € (M) 1762 €

(€) 1782 (M) 1769 &

5. ¥I3 IS 9793 fe g € Tt faF e gredsq faari
€ €3 on) faog

(®) s () SITyew

35 fafunt fS9° faul aus sla A B3 T5:-

1. 39 8I MHdIaT € Jfae T8 RS |
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% 3O Bfgg € HEt d< A& M3 fegst & My uoiig fega € yg9 (A €
fauz gvme feg d3m?

< 1871 ¥ fT9 sHUTdHT & fagdtut € gr=t 3 g93F & Hifamm Ht?
<+ g9 g fiw 7t § 3grs ae Sfmr fapu w2 Gt €t W3 ae get?
% A9 3 ufastit € fAw Ag=t a< w3 fa g rarfuz Jetmi?

% e ugHT des ae w3 fag marfuz dfemm?

<+ fwAgT sfgg € € nirgedt € &F ER7

75 f&d yst Agrs g9

1. AT YT ... & e

2. e TT ITHEST IS GfaH Tud Iearl © =8 MEE He 3 fom fapm
3 festis aHas afaen S FEUST ... g feg 3ot

4.  FAE1904-195 € feg ... OH & JgTfenT

5 s at ST 1905 e feg®sas.............. T A feg et

d5 fad yast iS5 Aat €°39 €1 ST a4:-
1. gred Utaet €t AgTUST g J9Et?
©) 1916€: (M) 1920 ¢
() 1913%: (A) 1925 ¢
2. IH B Mews faf gsfenT faprr?
() ARIHE NI (M) It few g9 B B

() UfagAaads E yar (7) feom SR3t o geide ads &Et
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3. Jred MYEd € HUTEd €7 &™H &t HI?
(€) gIfem® () Ao fiw gda
(g) ga3 i (1) IHag

4. ASTH Me®s feu fauahdt @n3t € getare 3 A9 fe 3T fapum?
() feedt =Ast (M) A=oH @F3t

(€) Hfgdt=H3T (A) UF IHIT
5. Ffemradt 3 ot g2 I7
@) gt ams yest () fesfodt s yerst
(g) Jodt AHs yeBt (A1) fAdl AAs yerst
95 fafumt feS° faod aus sta A T8I I5:-
1. 1906 £t: fe9 799N T ins g9et feu gfomm
HE® &% EdeT $7J9 €7 Ifas 3T A
HATSH F1a1 & AETUST 1906 € fg 9t
g% diarug f3sd AeeH! #e®s € 53T A5 |
FiaTan = UfgsT AN g9t feu HaravT artt &t yuraait I& gfem

vk N

22

<+ 3B fam ad ags gfemm?
<  HASIH UGS T € gt & 5T ER?
¢ A<IH Udet € YyI'e I fauz € wige € T Ire?

3 1920 €. fE9 JIdeaT HUd BEt fau=s € Ades Jv feg mme?

D3 1922 gt: feT 9% 99 fauzs € Wess wfdar 3 Wafas As?

% AfgwiesT g9 a3 fe9 fas a Ha are w3 fas mundt g7

& [uBeI WEBS € & nigrdt € STH ER?

<+  fuzes et & a-HBT93s ME®s HY 996 € MBS de J13T w3 fen feg Ag
3 ufgst d< Aiis gfemm?

B3 &T-HBI35 WEBs T yIg IB8<T Bt fausT &3 arfey 3T farn?

% 3ASS 993 AT € 1T a< Jut aret? fen AgT € faw yfig FiiaTdt e &F €R7?

< 393 i & faw ufew »erg § W € gor feg w3 e et get?
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3913 fiw € &% fau= € Ja F3tardtit § et € rar Jet?

JEIHYd Wae & faus Ji3ladt Ades & rausT feg daes ufen w3 €9
e HrfgmT farum?

8w fiw & fag w3 faus #iaed »erg § It vt Hi?

AEHS aHAS g W3 fan &8t fagas Jfemm?

1929 € € 99N © Ans &9 fagsT §37 sfaarfem fap w3 fags few A3
Bl foufaz gfemm?

ufgat JTBHHE TT5edH e M3 fa g gBret aret?

7 € € Hfgd’ € & @R fAg’ fe9 fAe® s7-ganat #Wess €96 &< € T8
3fawr fapur?

It IT®HH ITGedH o gBTEl aret W3 fen feg fan wae e ggr fawg Jisr
farr?

1935 €: € »ide MEA'T Jdad g fauahd™ € ARgT=T AEUI Jd& & SRBT J13T
farr?

1937 gt feg fagag € Y3t fT'9 dig Figment i34t i3 5|

o fene 9U a< 5y Ifen™ W3 Jigert Swiet & »ASie ae fe3?

93 €5 T H3T ¢ UTH IfemT w3 fer wiess feg fas o Hra are?

HI'™™ U<d 81 & fa03 € Aaes g=me?

g&femT faprT?

feefon afgae a< g=ret aret M3 fen € yurs 134t d< As?

fI03 IRIST-AGIH & M3 TC I93 €©f 3 ©f gU JuT T WB'S FI377
1947 €t € 393 € =7 v AT fau= € gfemt 83 fumm?

HI3d 9793 M3 UTaA3™S © Ufo® JIed6d-AadsT & &F OR 7

J5 fau st rars g9:-

R/
A X4

& HE=a35 Wess ... g § HY J9& € MBS 13T fapm|
HITSHT ITTT oo gt feg Tust miedtar 3 9793 U9 |
HITSHT I gt & fagra e ... fewa €@ 318 € 991 fe 9 9 995 & fanTst €t
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95 fou yast fe< Aot €739 & 9< a49:-

K/
£ %4

SHASTS 9793 AT ©F 1T aC I ol ITET?

(€) 19208 () 1926 &t

(¥) 1928 € (A) 1935 ¢

g3 fiw & et a< get?

(€) 19318 (M) 1926 &t

(¥) 1920 & (A) 1947 &h:

gmr fifw & Hela® Ss=rfeg § di@t ae HTal?
®) g9z (M) BIFS

(&) wHdtar (A) 15

993 83 € H3T U'H d< JfemT?

(©) 1942€h: (M) 1947¢h:

() 1941 ¢ (A) 1952 &

H33d 9793 € UfgST JI<d6d 7G9S d< HI?

(©) ®9s festmi gfeq () B985 Wwledes
() BT IIHS (A) B3 IBIHT

Jo fafunt fe5 faus dus sia A7 B3 75—

>T-MB=I3® Wess fIar 3 mufag At

&T-HB SIS #EBE T 4dd 989 Bl 3BT A=SI™H &3 arfed 3T fapdri

ASTTH UTdel € UI'< 88 3B Mde HB3I<T dfemri
1930 gt: f&'9 RHST JaenaT ySud anet 9 feg mret|

99 Ma8T Bfagd mfdar 3 mufazs /i

1

firg wret €t Afgmar

3 WAt T YAS

T3 HI=q fa g fufenr I w3 fer &t Saret, I3t w3 Swret faat A

g% gAY fagaz o feer /i?

g wret &t AfeusT € 9T & 4y o<t M3 e<fant & &F €R?

g wt €t AfgmaT < faut &t aet 3w femmar=t @R/?

g wt €t AfgmaT =8 yafen™ e Anag fa< ade As?
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i wret €t Afgm3T @ 89t € wmidfad dies ot f3s femmaT=et or @95 997
firg wet <t AfgmsT € u3s © f35 I96 @R
g wret AfgnsT € 8af € ug use 3 &< fad?

2
CACE{RAICI L LE T
a3 wrdt Bat & oife ot € 979 €1 Ae =78 3w fesdant € & @nr feost
fe'S fang =0T gIRGIar HfemT Ater 97

gd @< @ & oR? fegst fe9 A9 3 ydreT =< faasT I?

600 &1 yg= fe9 3793 feo mEfuz 16 Homsuet feg Jet 9 aat € s w3
8t €t gHUTS T € &T R

A9 Hies € 979 MHoH faus As? 84T e fenmaat € 8ve & ot Agyg Al?
faarefea T feg Tutg fa< Jer A?

T & AN ufgeg & AmET €t 3t {3 femmas=t €nv?

3
H& U M3 50 UaH

<1 At g yo= feg €39 993 9 & fa& Homsue Af I+ Ax? fegt feg
et € HT ILYIS THI 3T AT & ST A7

wWrafedr @ gt d< Hi? mirAlfear € € fAuT3 ot As?

g<! At g yo= feg gore ua fev ysfes f3s vy gsaretnt fauahnt rs?
fgags I atg=a?

g7 UoH fadgt € Wy AugeT=t feg s famm fer e af ygr=e fumm?
f3fuea dg faoz m&?

993 fe9 50 UgH € U3& © f3& ¥y a9 @R?

4
HdbdT 7%
YEIIUI Hdbd™ € HY ASIIT w3 Erdl urga e & @n? fon e fefsofra

HI3< ot 37
WA & ITUH faug A% JEt? AT mHs I € W3t o Bt feu mw fag
HO 3= Ya<e 97
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Hdt™ % feg UaHt 993 @ fan Ags 3 fan aHae € men 3 faw I35 &
fom ft® <t EAdt Fa=Tel?
Wt o yiT fev fag w3 few € f3s vy nifaaatnt & &t faor #fer At?

HdbdT 98 & UI& © f3& age /e

WA € 91 7 ToH € 38 Ho3=yds fruis €R7?

fAoed € 9793 €3 o18 @ €<F ot A&?

"HT € HE® Aies 979 en7

"R & TN € B faoz f3s vy o 137

&t fAgeg & ovsT 9793 © fef3um fev fea Ho3=yas weaT 97
dfesw d< H?

Afggan d< Al?

5

qUI TH

I9% T I3 W M3 MHIE3! € AgY faUl IR € AN 9 =T I w3 fegst
T A9 3’ HU 3<YdS ITHA d< H M3 Brer o+ fan fega 3'q sfenm Ifem At?
Aiedau3 © feert 57 A8y fan 3T € As?

MIEdaU3 3 §°39 9793 & fa 3 fas yuz aist?
JE9IUI €4 € ATHIH & fengrg g9 €R?

U3 IS feenar feg aHae <1 Afgst &t /i?
U3 B feg A3t ygr 3 Auy &< f3H|

U3 I feg u3tarat & ot Afast /e
Uestu3d 3 7y &< oy

U3 % feg imfgz Arfoz & €53t fas aist?

6
TIust g Qurs M3 @5t ' Adt

IS d< A&? € g€ ATAAT © &F €A1

g=g ¢ ae AI? §F &byt € gusTet & 3F R

YSIHE gAT d< HI? GHET 990 7% G U a< dfenr w3 fen e ot fier fsafenm?
Jon © a8 feg ader feT dfos =& foupnt &t farest &t At w3 feg fao=
uatHa M3 AFfad few UgTe ATE AS?
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JIngfa3g 3 &< f&y|
fa@=wiar g9 3t ot Arew I7
ysdiHas-2 & € gut feg gofe =% Ho<id AR d< AP 3+ U e &t

HI 3<UIS fAe foafemr?

JIHSIUS © He® HAles 3 &< fay|

JOHIUS € Afed YiU 3 &< fay|
JIHSIUS & MUTE it &% fag fag Agg As?

7
THYI a5

HfIHE IAa<Tt € 3793 oHfeEw & Wy 8T af At?

TAYS IB 3 &t I= J? ITAYI T MIF Jt J7

gAY3T €t 83Tt 99 fausT feuma sia Afen Afer 97

ySto9 < € It § grane ySiowe fa€* faor Arer 97

TAY3 T fe9 Uaid nige™s B =fent § af miftad yuz J€ As?

TAY3 I% o9 fiz 9 goredt e mars fan Arer & & feur it w3 fem e vy
oM ot HI?

THIIIST € By d< At WIT 89 fam a7 & A9y Jyer AP fem g @
fefgua Ho 3= ot Hi?

HfoHe Ima<T € 993 '3 oHfent € f3s vy yg'= ex|

8
fost im3sa

%3S € o<t mifuarg 3 &t 7= A?

895 & NIt & oifentt & I Bt ot fenm w3s A37?
fedw Farsa & »lat § W J9& B dt A3T?
geret 3 &t g2 Hi?

dad3 3 at I HI?

faas F®3s € A Bars &t @9 Ag 3 < U AT w3 fag?

AT T A FT=J?
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%363 % feg feaar 3 &t g7 Al?
AT M3 Hr yasHsT feg ot w39 A?

)
Yt g3 € I

3% dige fag 7 w3 oo oo gsas e Hagdr 7 3 fas u3q9 feg Sfemr
Jfemr J?

feradid A € 37 YHU fE9 A9 3 Ho 3=yds 35 fegmar faus As?

fersdd € AR fqAs €< 3¢ § Ya3arsmit &t H3e3T 3 af &1 dfenm?

fer &I19 AT € AT @ AN faos € feort w34t me w3 Gust & fer €f »igg
feemar g9 o fafnr 37

fer &9 AHT™H € U3E € @ HY Jds €7

10
AHTfAY UTafHa Me B &

AP gndT HI3HET Ba1 &% fens™ § &g wet faushnt 35 arst moret
gght?

& 8¢ gt 3 &t 3= J?

fqHe 9ar3t © € HEd Mgt & &7 e €U ey © faus € yeut fe9 As?

IHe< ISt & §3US fag Jet? fene 979 yfia y=d3at & &7 TR?

IHS= 99131 € ¥y o3 &t As?

I3femt HaTyg Mg Ha3t €7 y&ds ot Al?

A3 JHl9 € 76K ae w3 fa g dfemm? §57 € vy Guem at As?

IS MEBS T ATfI3 M3 J&T © 439 fe o af ygre fumm?

g3t Bfag €t §3UST € at I AS?

11
919 57sd Aoy w3 fAy g € rgrusT

fAy g 979 ATedrdt et JoH Ht € Ho I=YIS AN faaz 957
JIHS™ &t 987 Ag 3 fammer fare 3t feg gava™ faoz € 99 arfogrs € v &7
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919 MaAs Aoy & fauz 35 saret &t sto ot w3 feg fauz € ewfent feg 957
wfe 9@ Arfoy fe9 fAgt grgnt 3 Az &t gt I® J, st & & ER7

dg #drs €< A § fauz Has Afgare § wimleee €< € on fe9 faus vas
gEHY & I HITE JaTfemT?

Hdt W2 Wt &bt 3g=at fan & args St w3 fam et y3ia e

fugt 9e de At W3 BAe wigwret § &t faor AfeT A?

JI9 576 €< il € HIfemT € AgsY at 37

Jg 3759 €< Al € AUEd d< 3 ot g= J7
dIg 3971 997ed At & mIlE € ot IS AE?

12
HIT& ATHI™H ©F HETUST

1651 AEt € HY f[S9 €39 993 € 9 HY I € &7 €R? BF A fe st w3 Hes
T I < Al?

fegaraiy 30t € fegu g99 € fA 3 € 35 ¥y 96 ©R7

9799 & 9793 Gud oHfenT € f3& Wy 99& ot A?

UShuz & ufost 3¢t € {36 HY d9s dt AG?

IHIHT YAT & feedqg fag ai3r At?

HIT® ATHI™H € U3& © f3& HY I79& ot AS?

Hd BT Hat ©7aT d13 I8 3% Ho'3=yUas aar €n 7

13
HIT® I/ YSTBT € HTHS Y§T

HITST & 37 YSTBT €7 AU of Hi?
srfeg-g-mHla-M&-HH&Ts € ot »iag Hi?
MAET & HEHIETST YIT € H Y H3< o HI?
#aita fanm & wrfepur AfeT HY?

HI® a% feg yrfanar fam & wrfvr wier /e
Araitat &t ge8t T farrst 3 &t mAg Uer /it?
dITs € HY aH A7

A 3 &t = J?

geret 3 dt = I7?
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14
vye f&g st aadtmt e Gurs

Hafent € fef3am & Areardt € Afit S 979 WY famdt € 57 ER7
fefsomare fauat Aet § Hafent & &’ afde g6 »3 fag”

fa=r 7 & A0 e Ifemm w3 €8T & I €1 AEUsT € IfAR g B J131?
99 W3 Adel 14t 3 at 1= I?

1802 €1:-1803 g1 feg »adAT & fadx 979 HI'T AaE'adT &7& HUTHT 13 PHT?
JEIEE € HAA § HITS IEHY <& faaa Gurdhnt 3 g€ fe It arent As?
Y AB3E & MTUE MU § A3 HHA Je WiHz i3 M3 6 & W3 ae »3
faat 7% g3< Jei?

15
€39 feg st maatmt a7 €as

€739 9793 Tt st I3t © GuTE g9 AEdTdt © AfHT bt 97a famnt @R
USUI df B3E @ Iode MfoHerT Wee@l 3 WIS IeRY @8 SHIg-8v-3%T
2 Attt fTTe it frgrahat|

Ae fagz fesd f9 Haw A fegu €6 As M3 Bust T HEd a3Ter &7 ©X
w3 €W &t W3 a< Jet?

1716 €: 3 1752 € 3 BJd € I HI® HEE9T & BT TR?

JOHIT 3 &t IT= I?

T WawIr ae, fag 3 fagt fegara Ifenm?

18<T A<t € 979 WY Y AgeaT © &7 M3 89T It TaTSIHT € 5T @R
o7 gUTad ©f Aafde/gusfost €t 537E € AUy @9 9|

16
HITITHT 31T fiwr

HITITHT I3 AW € a7 €1 ATeddt 979 AN fa93 g7
I=HI3 fiw &t @7-T-y™H 3 AU 98T U |
g3 i &t Ue® AaT 979 Huy feg @x|
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gaul wenat &t AoTfesT &% A3 fiw & mruet @ < faus 3w fofmit &
HHAZS gSTfemT?

I=HI3 fiw & AaT &9 wierat & & wig femt € & €R7

AT g8 I M3 T miTABeels faus I ATTse AG?

fist fe'9 garfant & faoust e fan »rae 3 sfas St A

HITgHT ISHIS fiw & fagt gant € 8t § w3 faw gu f<9 raywrst fe 3t aret?
ITAS AW T WuST uaa™ &% <3197 faa fagT /t?

17
Faulst € WIS 3 Aa=-§ 93T B Hwaw

93 feg goutdt &t =ufad w3 vt AaareHtt 879 AreaTdt € A3 &t
fomit & =t ER7?
gau feg 3793 3 Wy gu feg faustut =nat & 93t far Al?

WaldH 9793 3 fagt & gt § 9799 9A¢ AS?

WEeH Way 3 9793 feU 29 B faushnt @H3t & WMEE Ax?
USTHT &t 838t € 35 795 €R7
I9Hd ©f B3¢ @ f3& 9798 @R?

18
fgfew Avaa & fergTe 3 Aaes

9793 fTT ¥iaed! A © fea™ w3 AaIes 79 ATeaTdt © A3T &t famit € &t

TH?

1857 €. € fewdu € f3w Afsx a9 @R |

WA € &% YT @7 UfasT 9 U a<e Y3H Ifen™ W3 UTSAT @9 € Waldd’ 3 996
T HY I35 dt A&7

on?

Bun © fAuig 3 &t I7= Hi?

1856 € feg wiey § fan €818 € g 3 #addt AHaH &9 sT g fapur
w3 fen <% €7 @ gAa faasT A?

1857 €t. ¥ fewdy v fefgurma vo 3= ot Hl?

9793 f=u fgfer e © feraw feT 393 gAfeam & ot Gaes fe 3
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19

1856 €1: fe9 gazTatur et st feg gfenr Ifew fan vs e JuzT g3 feo
nrfe w3 faa W& o JU3T 9793 3 79 Ifru™ fapym?

203 At f&g fagghut fami @ Gewar 9793 fev feafazs Je7
WA € 99 a3 SUT I € 313t I at = A?

femraerdt ygr 3 dt 3= Hi?

393 fe9 mufaa fAfunr Hg J9s feg waewt e ot Gem Al?

fan Jr=9sd A59s & fea It s © 374 fede Hg 137 w3 few & vy 3= & Al?
3793 feg Az 3 ufast I8< sets fagt € Afga’ fegaa w3 a< gt w3 fen &t
Furet fast At?

eHa® Aafen € AYY faus fegmar s At?

20
AHTfAT M3 UaHa Hess

3793 feg A9 3 ufg®t gefia 3 mirfaa Bfae fam yi3 fee w3 fan fegouer €
"HJ J& Hg J€1?

foeretefem 3t = 97

ferzdtt € %3 UGS S ITHT IH HI& I¢ & fagt I3« arst 3 da fesm?

et fesarée & fagt f3& aTst € "9 43 37

et ewae & fagt 3w arst e fedu ai3m?

HOWSs Gdtiies arfesw &t mausT ae w3 fag 98t W3 feg w@leg wnfed
Yateafiet g g 39e1® J farrm?

€ Agst-aedt feg fan 3dia &t ffaur fe 3t 7iet /e

1835 &t feg Afwr redt &t SnsT dfemr w3 fern 5% ASfuz weew wigardt e
&t &t HT?

WAIdHT AHI™H € A 3° 2UJ B9 fqu= F9a1 § Ifenm w3 few =9ar 578 mifuz I
fafant € ot €r?
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21
THSI3T 9387 M3 YSHfsul AedTa BEt Auew

3793 € H3393" HWan © fef3um € A3t &bt famit € &F r?

FISt & HE® THBIST Haes' e A 3 H3=Yds fauzT /At w3 fem & fama
ae w3 fag marfuz stam?

99T & 27 d¢ 3 qu= I=dad Asds € AN I8 w3 few mn &9rs yis fev
fags 3= fesma s As?

HES &% Bl fag € gfas 5 Mt W3 fen & av fag W3 fagzs #aed Mend
& JTBT Hrat Hi?

WMBF Wess 3 ot = I?

SHUTGT & Ufgare &t 13w femma=t faggdtit As?

grgT v fAW At & %33t € ¥R AuTds et fqastnt 3« arst 3 19 fegm?

B SHUEMAT & ‘T’ fa* M Bar ug |

i reret feg faus S99r © 39 IHS 367

20T At @ Ufg® egfont feg AW Ag™= & giae<Tfor™ € FU9 el faasbdt

22

1921 € feT fauat gamt uadt & mry feT I<f At w3 few @ @ nigeuit €
&t EH?

A<Jd™H UTdel €7 HY H3< o At?

JIEEHTIT Hide I UTH Jfemt w3 fem ewrar graemd faast fimer @ deds feg T
qrE?

g99 a3 fan famy € Awer fe g ferem Tue As 3 feast e iz &t A?
fumeg 3 &t = J?

sT-HB=d35 #ess € BAg Uy faus Aa?

1929 gt: fe'T audt Mgt feo 99 gee @8 € i3taTd! ds A6 W3 Gust er at
gew Hi?

FaIt & AES JfiEs e fedu fa€ 3T w3 {ay e fausT »rgr few fegu
feg st Sfewm iz €1 € W3 T arEl?
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HITIHT IMGT & fHE® &7 SoH™st MEss € wdg fan g 3 ae w3 fan 33t 1377
1935 €: € #ide mits aed ffT AUz 1St aret sfenaat 3 &t 9= A

1935 g} ¥ nige muls Ysfs3 a3 I Yyi3d Ae-AAs 3 &t 97< Al?

uTfaraTs €t ar o€ w3 fam enmar i3t aret 3 feg faw firats €3 wrarfaa Ai?
93 M3 UfaA3™s € € H33d 37 ¢ d¢ 9 me? fagt € yi3t & 393 w3
yfanaTs feg <5 Jei?

UF Adt 78 yAs

1
fAg wret €t Afgmar

fig wrt €t sa19 GasT et ot femmsT=t A ?
g wret Afgm3T € 38 At €3 gser ug?
g Wt Afgn3T € uan &t ot femasT=t As?
o wet Afen3T € Tasif3a fies € Sdes J37
fig wret AfgmzT &t feut g9 gt &t Aree 97
g wet AfgnsT € u3s © a9 €R7

fig wret RfgmzT €t @< g9 @R

HosHes 3 fan fam &t yaat st g&?

2
ITIST T

fggree 3 Tt &t Afg3t 979 ot u3T IBer J7

AT M3 AHSt 3 ot = I7

WTIdT © AN B3TETSt It ot fermgT=t Aa?

A 3t-feengr &t fenmar=t @r?

I79 WMTHIH 3 ot IT= I?

WMTIHT BT T WY T<famt g9 TR?

Sfed I € midtt {9 YBfe3s »reaMs 3 aor A3 3 &t 9= J7
WTIPAT € UM 3 ANTTAS A< feg war er af Ho 3< At?

nratT & 393t Afgw3T § &t e J7
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3
16 T M3 §0 UoH

WMHTIHIG & AN HITT I € Ba 3T € ot a9 A7

&< Ael g ya= €t THsIf3d 3 ANTAT UAfastit #& UoH W3 §U UaH ©
HEH BEt fa< mggs AE?

HITT it St Wy fifaret |1 A5 gav € Wy fras feg?

HITE1T mvmit /&t Afunr vigAg As fougm § fam 3g7 & fies 9313 agaT
Jer Hi?

HITET &bt iyt &7 Argge HE Y @ Ales &El at Ho3< Al?

HITSHT 8T & MHE H9dT 3 &t g7 97

HITIHT §U 27dT I8Te! Iret AW feergr bt ot fermsT=t As?

g8T € UY 3 AZY T df Ha 3< HI?

90 UgH € 231 88 M3 JIHS fUaT I € HY a9 ol A&?
93 fE9 U UaH € U3 & I9& ©R7

4
HabrT 7%

HIESTH & Hdt™ AHa™H € YA™A® 979 ot f&fimr g7
g ©f afSar &f fAs &t v 33T ene?

HatH™ I7H € &d19 Y§T 979 €A 7

Hdb™ 3% feg azaTat w3 a3t < at Afast mt?
Hato™ 7 &t femmaT=t ot Aw?

»Hd € oW (4H) 63 Ay &< fed?

HdPHT AHT™ € U3& @ HY 979G ol AS?
HatH™ I & wiegat 3 feewt furg g9 gt df Aree 37
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5

IS TS
IAS ATHAT ©f 9793 © fefgam feg ot va33T Hi?

A< IiAmt 2T 9793t fefgum feg ot vo 3= Ai?

U3 AAAT € Afed yFu & Habd™ ArAat € Afed ySU 5% 3&6T d97
VI I feg ferzdbudt <t enr fag fadt At?

WrdhT g¢ T 4ais fefaris & 439 feg ot Gaes 37
YSH™H3d 97 €A 7

FBeH §°3 iy &< fau?

at qU3 IS § g9t fef3gm er pafadt & fagr AT Ager 97

6

9ust @ @uas w3 Qust @ Aadt

BT AT UBATHS g &t fA 3t € 919 €17

J9W € IH €t yAmRfad fearetut w3 st € doHTTdtiT 79 e R
JIHEIUS € WUls BIrs feeng W3 BIrs HA3 gHT 7 E A7
HAJIGIHT & TIHS M3 oH §7d T H7?

JINSIUS © AN a8 T fegra <t af Afaat mt?

TIUS TS feg Hed <t AngT T ANTTAT Ha 3< at A?

oye feg sfeaTd M3 Mg 9913t 97 @7
FT8er gatedfaet 3 &< fay|

7
IHYS TS

FHYST € AN € A3 Y81 B §BY F97

Hfoye Ims<T € oifegnt € a9s €R?

fderat arat feg u Hione Jms<t &t fA s € ot a9 As?

Fad B fagz f3s graent feg fwaw Ifen 3 few er ot firer faafenm?
grfred 9% gt Yyt gr SaeT e
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gAY I8 fE9 et &7 ot Ho' 3= Hi?

df ITHYS & & HU-TH AfdST BId I<II?
Hfoye Jms<t de H? BAe 9793 €3 onfen € ot Gen Aa?

8

fest B33
fewgsfim & fe 8t As3a3 & fan 33T Hags gefemm?
9595 § TH TH € HU's A83'S faf” fagr e 37
TUST g93 ET T 3T BET mimBEls fusHT & fam yara & 13t muzTet?
HoHe-fas-3918d © faus yamfad y&ar aae at feg My efgmm?
feow Ia®a St fagahut STt & fe st AIZ3s3 @ u3s feg forr ufemT?
gt fest i3s3 § uar 339 afdeT 8fez 9=arm?
fest gB3Tst € A =991 7% fag fAd AT A&?
MBS BT & HY »wrafad Fu™d ex |

)
TYSt 93 € IH

FIHST AT © fewes fe9 yrmfaa feene w3 AR =dar €7 ot 99 HI?
fer &a19 g & €531 feT faus €= a8 & ot fomr urfen?
fer &d19 ATHI™ € HTHG YIT Tt Y'Y fermsT=t ot As?

fed &I19 AHT™H € U3& € HY 19 ot AG?

10
A OafHa Ma®s
&y Fat & gfewret feme™ ot AS?

et & gfewret femem &t As?

Jiay U=t A3t & gfem<t fere™ at As?
MBS g3t I &t IIE I?
IHTEHIIHT 3 fea &< feg?
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aHée 3 fea &< fau?

A3 ®&fag © gfem<t feme™ ot As?

A3 IE19 At © o<t fegew st °As?
dfeem #t 3 fea &< fay?

Jg 576d €< Ht € giemret fene™ dt As?
a3t Bfag &t vy fermz=t dt As?

11

919 3754 Aoy 3 Ay g € rgrusT

JI9 375d €< At €t @wr3aret 7 QETHMT g9 R
JIg 38 &< At & HrfewT €7 Agsy df /t?

Jg 5754 €< #t & faoz yafes fenemt w3 feegat er 435 di3

J1g #iare €< A € Ay (g € fegm fT9 €3 taes &7 =95 J37

qIg MHIe™ it € ATfaa gutet 3 fea &2 fgu?
At yET 3 feq &e faur
HiE yar 3 fea &< faur

wrfe 3fg ATfog € Ad®s M3 Ho 3< 979 €7
919 Jaditae #t &t a1 13T ot femmsT=t €R7?
919 39T 9UTeg H1 € mlet € H 33T e |

ySAT Ug & fAgAsT € a6’ 3 96T UG
BT U9 € fAui3T 979 Areardt e
Mréeyg € ufgst 3t 3 &< fau|
nréeyd ©f gl 33l 3 s fBH|

9Hdd € F3TET g9 A |

fyagrsT € B3ET g9 ATeaTdt feg

12
HIT& ATHI™H ©F HETUST

g9 W3 BUT iedrasT fegda™d AWdH 979 €H?

IESITE YU g9 IAT at ATSE I7?

60



2

-~

IHE MI gI7ed A0 fegdtd &3¢t 979 A7

Ll

-~

IHY W3 HIH'Y HdT feedd Awan 979 €17
HOHJ Hat faus ot set yfig 37
WJEd & ITHYITST AUt dt ST musTer?

MJdag & gue &3t € ot fAe faas?

13
HIT® IH YST3T 3 HTHS Y§T

HHJ9d 3 &t g2 Al w3 fer =7 &t Ho'3< Al?

WA MUTS HI® ITH Y& A7 gt &f &< fegraurar €r @9s dd1
H&HEETGT YST&T at Hi?

73 M3 A9 3 feq &e faur

I © MUts Ifamt 575 fam 39T € AT As?

HITS ATHT™H €1 J'Edl Aga'g fe U fagx i34t As W3 85T € HY aH ot A&?
»dgd & AN YSfe3 aa3t feemgr 3° 3wt ot AHse 97

HIT®T WUts ge& EArdt € feam €1 99g9T 997

HATST MUts Afa3 € fea™ &t 9997 a7

14
vye f&g st gagtt e € s

HI™sT HI ST € Bave @ &t I9e AS?

faet © o7 Ygu &t vy fermsT=t R’

S8 73 AaeRy T 3 ot I7= At w3 fegt &7 ot Ho 3= Hi?

g&H fenesg & g Ay &t AfgSt § vAgs 9w feg dt g fe3t?
Hafent € fefgam fee ustuz &t it &=t &t dt Ho 33T 37
Hared! g (fAdhHT) & Harfont € 37a3 =uge feg ot Gaes feam
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15
793 feg st Aastt a7 €

sHEgEsT € na3t € §us g9 AT &t ATew 97

et €t madt v € s faw 39t dfemm?

919 Jifee fiw Afoe © HOsT 575 AT € HY Wes™=T §7 @96 37
ger g9Ted & Ayt g g fan 39t rarfuz a3

AadtHT Ut & Ayt 7% faues et ot w35 J137?

AT WIWET 7 ‘FIT WHWEY I &t I 7

wfoHerTg migert €1 fAyt fegu »iAe®3T € ot I19S AG?

st €t 73Ut g9 3t ot Aree 37

JreH IT-dudl AmET 3 feq &< fau?

16
HITITHT 31T fiwr

HITaTAT 313 AW & fa 3 I fesfant &t feengr fa< 131
HITTHT I3 W & St yiut &t vy fermsT=T &t As?

HITHT ISHI3 W € Fra <qqr fe9 fan mrfaa fugas © 39 As w3 €57 &

HITIT &% far 39T € AU A&?

wifizne & At fagght uforfagt feg Jet?
#iH3Ag € At € Ho 33T e R ¢

eH-g-gerfee 3 &t = J7

17
Faulst € MraHs 3 AI=-§ 93T Bt Awan

793 fe9 yagarast™ & mrust aa3t faastmt uanfaaht feg rarug S13?

93 fe9 ya3arstt €t madt we 7 A'S € &t I35 AS?
9793 fe9 WaeH! qust € SuTfaa d'edt M3 SUTT I79 AYY &< fea?
SITHHAT quUat @ fegu Wagdt JUST €t AE®3T @ ot 196 AG?
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USTH & 33ET € df I96 A7
USTH & Z3TET € HT 33T €A
gIHd € I3 € o I96 H&?
gaHd € B3TE T HI 33T E A7
WEeHT & §ar® € Sl fan 3gt yruz Ji3t w3 fen er at Ho 3= Ai?

18
fgfew Avea e fergTe 3 Aaes

AoTfed AUt 3 &t g2 J7

1803 gt: €t Aut € Hatfent &t 3793 3 ot »iAg fumm?
Sun fAots &t 97

Ay § waregat & fam 3gt My wdts i3

1857 gt fewdy € Afsd a9 ot AG?

1857 &1: € fewdy € MAS® 3T € 9798 TA?

1857 €: € fewdy @ s3H ©n?

g7ded mae 3 fea &< fay?

WIgHT AHT™H Ul fAe® Aefen € Aaes g9 iy feg r7?

1858 €: fo'g 993t AT fe9 faustmt Iactstut JeEhut?

WA AT wUts famt-feenar e gadtt €3 ot ygre funm?
1857 €. @ fewdy € mirfaa »3 niafad I9& ot A&?

3793 feu fgfen e € fergs feg ®93 F&JIHT & &t Gae's fe 3T

19
fgfew AR wdts wrefaa 3 mfaa ufesass

W AEeE 3 ot I J°?
#AIgH AHATH & 3793 feg feewt Jatudtt &t rorfeaT fam 39t i3t?
793 fET Wiaed! A wtts 38T € fengg € ads W3 €8T e Ha3e ER?

g §99A3 F ot I 37
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Ju3=S1 feremgr 3 &t g2 97
OB feengr 3 & 7= 37

faus < fegat € ygre muls 9793 fe9 AifAa FU9 d9& © W3s 13 Jre?

9793 fe g wiagaT & Ay AaTt st &1 Mu=Tet?
WIIGHT ATHI™H & 9793 fe9 HU =9a1 @ €% feg ot HaeTs fegm?

20
AT 3 Ui M B
AU #esaT & §3uat @ a9sT 979 @R |

gOH AN €t AETUST w3 §EF g9 €F

IHfqHs fiie €t fegraura w3 Uare™ g7 €|
y9gsT AT 3 fed & fay|

Ad Awe »ifode ¥t € aufaa W3 grafua garat 979 fegraurar ot Hi?
MBAZ Wess T ot I J?

fsdardt wess © vy s faus ra?

STHUTST Wess © WY fAuT3 fags Aa?

i A e s <t € 3USt © &t a9 Aa?

ffrwr AT #d B @ €9r a1 °AS?
wfoHehT faa e aafia Uy & Hi?

21
THSIST 9367 M3 YSHaut Agd™d BT HWaH

ufa® € egfant feg fstis SHa® Fiaen &t T 979 €R°?

AIaTd YT Fiagn € < eie feu 3ueiat fagt argat gaa Jet?

9y € 27 € g3393T @ #ess I ot wHg fum?

ASYHT e ®a 3 ot 1= J7
HATHH i1 € AgUsT € &t 9796 AG?

JTEd Me S o o §OF Ht W3 9793 © AIII3T MBS feg fen e at Ho 3= Ai?

IH 3% wess 3 fEa &< fay?
1919 € € #de St femmar=t fau?
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HI&-fie Furat (1909) €™ vy fermar=t TR|
fE&-EAE® 199 & A6H W3 §TrT <t 93T a9

394 €% © €975 € 5T 9T TdaS 4|

22

%< niae 3 fea & fau|
AfgwiesT gar € gfanT a3 3 feq &< fau|

fumTeg widss 3 fea &2 f&yg|

5T HB=d3s Wess € GO M3 U™ 79 € |

A=d™H UTdet €@ 3= W3 GIeTs of 9997 dd |

eI MEBS 97 IAT af ATSe J7

F3taTdt Wess 3 &t e I7

sfag fauge 3 fe'q &< fax|

3913 fiwr wirfe Figtardtut &t Aaaratt Sar® W3 Hotameg & efgrsunet 3
fam 397 fgs A5?

fAe® sT-gaHTat WEss T Y3 ot H?

1937 € € e feag a1t fee =ur faw 39t dfemm?

993 23 MeBs I 5 f&y|

e fJe 7 g9 3T ot ATee 97

faagt g3t f&g i 7 € A9dT 8 393 & MaTEl ©< T SHST JA13T7
1947 €t feg 993 &t =3 fagt uferfastut feg J3ei?

1947 gt feg en &1 <3 e {7y €3 af ygr= fumm?
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Hsfa3g

15 Wdt B YRS

ST -H6f933 e q S 15 M Il
H&fg3d 996 © Hd = 10, ferrfumraas e wa = 5

993 € &an feg fAg wet Afem3T @ Aas feu§ W3 Gust rarst €t forfprr
=t 37?

9193 € &I fe9 iAd € AHI™H & ferarg feu§ w3 €n <€t fenfymT <t ag7?
993 € San 9 Aeddu3 € a7 e fengrg feur@ w3 8w €1 fouferr St 47
993 ¥ &9 fe 9 Ho 3=Yds fef3uma rars feug w3 Gust §ug &< =t fau?
1526 € fe'g 3793 &t Afast § Hafe3g fee feu® w3 &< =t fau?

JEd € AHI™H § 993 ¥ &dW fe g feu® w3 feq &e =t fau?

HITaHT ISHIZ W € AHe™ § Sange J¢ fea & <t fau?

9793 € &N 9 Hu 3TY3Is fefsuma rams feu® w3 Bust Bug a¢ < fau?
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AU® Jud-1
3 Xl (faredt)

Time: 3 Hrs. Theory —90
CCE-10
Total =100

1.  H'JYHS AJdl I5|
2. YRS U39 feg 4 3791 &, M, €, 7 76 M3 I 28 YHS I5|
- FIE, YA 99 1 fe9 13 X 39 1 % T8 YAs I |
- AT, YRS 399 2 feg 13 X 39 3 #at T8 YAs 95| fegt ymaT e €739 35-40
Aget feg @7 J1
- FOTE, YRS 399 3 feg 13 X 3 5 WaT T8 Yis 3%, fig feg 7 yast € €39
o< 75| fEgt yast € €739 100-150 muet feg 2= J1

- 9T H, YA 899 4 feg € wafa3at feg fan fea wafe3g § s95 € 15 #ia 751

(10 W &IH fe9 5 Ag'S 996 € I& M3 5 W 9d I€ ATTET df 20-25 HuaT feg
feumfprT 995 @ I8)

a1 (9)
1. 1 foorew feo fauaht € et e fage mi@er 37
.  ST9gug Hair 3 »UE TS Mies © 5y feg €39 u'eH fea fagar
fesar fafomn w3 fe @ faw 73 & ffenr it

. ugst & d¢ d gfen J8He'E € Hed fag § 3 feo fagg 2w &
grraas f&g yar Ifen?

IV. 9HJdeIB faH AB3S & d1377

UBt AgTS 99 ¢

V. g ferdts st s s yfiu sl

VL. foUg w3 Ao uf fega g SAs™-d& &3E _ AE's 3 99|
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VIL "3 URE= € AN Hafent &t a3t »ue et 3 ude
aret |

Adt/I®3

VIII. HA'9 9€ Je9 3 den13 fw & mieq e fagT yuz 1371

IX. &4 fefeni §féq & 993 feu fea t v'e = 37« feae mg 1371

ggfeasut yrs

X.  3femgdt 3 &t g2 I-
(®) <Idt FHE yrEt () feafadt aAs yerst
(g) Jiodt aHs yerat 7  fAdt ews yerat

L firo wet € at € miafaa dies &t {3« fenmz=t &7 g J91

. f3fuea 9@ faoz As?

. U3 T feg imfgz Aoz & G=3t fa= atst?

IV. JHA3I9ET € 34d d< H w3 €9 fan a7 &7 Ay Jyer A? few ggaT e
fefgama Ho3= ot At?

V. fediadme AeH € 0 YET feg A9 3 H'3=Yds 3w fegmar faus As?

VL.  H9 HJ Bt @97 13 I {35 Ho 3=Yds 9 ©H |

VI. FITWBWI IS, fag 3 fagt fegara Ifemm?

VIII. wav feg 3793 3 Wy gy fev faustmt =nat & 93t far Al?

IX. 1835 g feg fAforr i¥Gt ot ST Sfenr w3 fewm & Aafuzs wew
fggrat et &F ot /?

X.  AITH U €T HY 3= ot Hi?

L WTIT € TTHE M3 ANTAE Fies feg war € af Ha 3= Hi?

. Moy T® € wiegat M3 feert =u g9 3ot &t Aee 97

Il  »dtur 3¢ T uais fefarrms € 439 feg ot Gaes 97

IV. HAAJ9dHT € €d0s M3 ot 979 TR |

V. o%95 § €W SH € HU's §83S faQ fagr Ater 97

VI. pett @ gfenret femem ot Aa?
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VIL.  g1g Jaaifie /it & a<1 313t &bt femmagr=t €R |
VIII. H&HEEWT Y&t at At?
IX. wf3ng & ATt € Ho 33T E R

X. JEd #ess € ot §YF At M3 993 € FIIIIT WSS feu few v ot

HJ I HI?
993 © aan feu fig wet &t AfewsT € €t 5 Ag™s 99 M3 99 9T AERT ©F
fen T ag1
Gy
1526 € feg 993 & Afgst © d& 5 daed feu® W3 feue o Aast &t
fenfumr 331

69



AU Jud-2
3 Xl (faredt)
Time: 3 Hrs. Theory — 90
CCE-10
Total — 100

1.  H'J YHE Hgdt I&|

2. YRS U39 feg 4 391 €, 71, €, A 75 W3 I% 28 YHS I |

- FIE,UEs 99 1 fe9 13 X 39 1 W T8 YAs 5|

- IO, yHS 399 2 feg [ 3 X 3q 3 T T8 YAs 7| fEgt ymaT v €39 35-40
Aget feg @7 J1
- FI1E, YA 399 3 feg 13 X 3T 5 #iat @8 yns 76, fAgT feg 7 yast € €39

o< 7| fEgt yast € €739 100-150 muet feg 2= 71

- g1 H, YA 899 4 feg € wafa et feg fan fea wafagg & 395 € 15 #ia 751
(10 W &IH fe9 5 Ag'S 996 € I& M3 5 W 9d I¢ ATTET of 20-25 HuaT feg

ferfprT I35 € I5)

gTar (8)
1. () o w &t afemaT et Haat 3 fags € Ara=at &bt Hadhut A&7
(i) &< nAet € ya= feu faost <t gmr yafaz It 3 feg faus Bat &t

ITHT HI?

(i)  JUI =H T YFIBT HI™S AHTTE d< HI? @& o€ 3 o 3 IH 1377

(iv) fan 9% aAa € % dic »3 Tye Yddt eHtT 578 U9 © feaw st

yfAg /t, 8F Aa @ aHas <t R |
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Yy & Ag"S 99 -

(v) fogase=ae__ & feu fedsde € mae sfen W3 Gret Iraumt
&t feg I

(vi) JgIseae M & diErefes_  fagr ge=fenrm

(vii) MIgd ¥ % feg =dit® o niger & fe3r farum

Ad1/AB3

(viii) Pt TETSe € UASd € & Af3mag ya /i
(ix)  SIeH e UfgsT A S9et feu HomaHT arrat & yuraait s Ifenm
ggfeasyl yms -
(x) ‘feehrs Us® 33" ae e faprr -
(€) 18618 () 1857 €: (¥) 18758 (W) 1882 &h:
(i)  wdPdT & AN ufaeg &t AnET &t det (3s femma=t en|
(i) dfeswdes A?
(i) JIH=dus € »uls grfemit 578 fad fAd igT As?
(iv)  J1d Mars €< A1 €1 Adtel € ot I35 °HS?
(v)  MH3Tow™ @ fef3agm &t Areardt @ =8 AfHMT &bdt 979 ¥y famit € &F

(oo,

en|
(vi) 1856 € feg mieu & fan €31% € mu9 3 #aH A feg e feur
fapr™ W3 fen 8 Erer A d< HI?

(vii) FAeMT TwTaE & fagt 3w aTst € daed 43s J13T?

(viii) 202t At € ufg® wafant feg AW Ag™=T & J@emfont € gu9d et
(ix) YIS & ITH Y&t € Agy St At?

(x)  3I3T Bfgg &t €3S € &t a9 A&7

() HITIHT 90 & WA HTddT 3 of 7<= J7
(i)  Tfregd 9% €t yuItnr e 9= fel |
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(i)  HIHe-fas-39®a € faus yrmfsd YyGar aae Sat feg w3y efemm?
(iv) feriaaEe e & €531 feu fams @< a8 & &t fowur ufemm?

(v) A3 Bfga € gfenret fene™ ot Aa?

(vi)  HO® AHT™H € d'edt Add'd e faga W3t Ae W3 85T € Hy aH ot A&?

(vii) geTETed & fAY I fan 39 AEfuz J13m?

(viii) T9HT &t BITE € TS M3 HI 337 §7d TR |

(ix) WETe §<gng 3t g J7

(x) fAE® sT-goumat WEss e YarH dt Hi?

9193 € SaH feg Afeddiu3z € IH o fengrg fey© w3 Enat femm o a4

At

993 ¥ &an feg de 5 Ho3<Yds fefguma mas feu@ w3 feue I marst
Sug 3¢ By
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AHT3-10+2
(faredt)



HHT3-10+2

(faredt)

|1W€""8‘L[H?>'

1
amg &bt gaifed feanzs=t »3 Quat e fen € fefaom €3 yg=

* I EwWTd 3 Ay § fas g feg s fapur /e

B3 oY pEe 3 Jf I J?

<+  Hugs feg iae § o fagr Aer /e

<« A9 g cq on fab fagr Aer At?

< g9t edg § Wt fal fagr Ater Ai?

¢ gastt & IAg § &t s fe g At?

<+  weTfagAfaz 97

& IIfes & ufast 3 grdt BFmel g e

<+ (Ag<yAu<edd 639 e fenr =5 rs, €57 € & faa?
B3 gH Mg I dt F= I?

B3 fang A% g @y I at F= I?

< gaifed fenet 3 U € € HU'3TYIS &d9 €R7

< UAYe § It AHaTH fe 9 g arfHs J13T fap?

< HaHET Ier3 fw € gaas 9 iAmg & ot faor Afer Ai?
< HIaHT IEH3 fiw € oA &t ATt fagast At

J5 fad yst Ags g9

& fooRfegasfesi@mad ... faar Ater /i

2 Hoa s feg iae & ... M3 M ISAs TR & MY ... o &t
fe3r fapu

23 g e €3g-uanfes................ TJ AfE3 751

B3 forfemmr ygeg S Rg I €T ISt .o Jl

RS AreeHufeoAfas degaes gdt e =g ..o Zt fagr AeT I

95 fou yast fe'< Aot €739 & 9< a49:-
< Wdee & UAe § &t &f fe g
(©) Uelenftrr (o) TAE Y3
(€) HI'SJd (A) Tdend
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UStuz ©f ufost s3met o< 3t arEl?
©) 1526€: () 153@ Tt
(@) 15568 (A) 1761 €
A3 M3 W &t © fegaa ¢ fega § ot afde 9&7?
() gi9@ () 3IIEr
() HBIT (A) <t gy
iAg € nid I< = a1 a9 Hi?
(®) A& Afgrer=ar (f) s GuAg
(®) uz fsu s (M) MHe<ase

J5 fafumt fe5 fags aus sla A7 B3 75—

& @Y TRt M3 fAgsH sEhit € fegaad gmar § &t afde aa1
7 € €9 §39-UaH fTe Afa s os|

7 <t gaifsd Afast € a9 fe 8 © 89 A3 < I |

UHmg €7 He'at 3791 993 QuaAg I

®Jq fans ey feg Afgz 91

2
iy @ fefgom @ An

wfe dfg €7 Ha®s fan aig & JaerfenT Ai?

nrfe dg €7 Aa&®s ae gfemT Hi?

Uy © fef3um © gromt faut € € Ad3T € &F €n?

AUt AT 3 7Y Afog & 99T fan & A3t Al?
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9Hdd © WU I &< foy|

UTHHT & HgTUST © df a9 A&7

YTSHT @ Y fAUT3T @7 @9c& J47

fry fefgom o9 AT &t AEUsT T &t Ha3< 37

919 difse fiw 7t St Afo3d Aagrartit € 79 Iast urg?

919 diffe fiw fe'g €79 d<t © Aates da3™ As? Auy femfmr a37

WTETUT ©F UfgBT 3Tt 3 AU &e fou?

wréayd &t gl 83Tet 3 Ay &2 fau?
10
§<T g9799

YT 99TEd @ MIdfgd AISE €F HUY 9SS J47

geT gJ7Ed ©f Aafde & fA3 @ Ay S9<s d47

JI9CH &91% € BITET € AU TISS Ja7

ger 9U'ed & Ay I fan 39t Agrfuz a3

ger 9o T feq <19 GuT 3 AaU3t € gV fe9 Haae a97
HTT §J7Cd ST MTIfId AeB 3T € A8 A A&7

YT 9T O MASB 3T € Jf A79& AS?

ger guTed § UAe © fefaom oo gt ot mas fée 37
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11
"9EH AHT YT, gadiit ¥t g vy -Guat € fAyt & Aeu

WgeH AHe 4t 3 fea &< fea?

ufa® wgwd A 8¢ Wwawd 3 Ay 3¢ fau?

AdardT yt & fAyt fegu fag fadt 13t niusTet?

39 i =75 d< H? 8w &t matet o iy fefgom feg st Hog= 37

JOE UTBHT M II UTBHT I &t I 37 §9aT feu® HagTe fa= uav ger

It Wat fAw 7t < AS? BuaT <t matet e Ay fef3om feg ot Ho3= 37

5TEd BT d< H? §A & 9793 3 g oHgT 37! One fern ovd e (A 3 ot yge
fupmr?

g€ €% I IIST % 3 foa Auy &< fea?

Hig g &t fryt feg o »es3T € &t a9 A&?

12
o8 YTBHT T Qurs M3 @AEl g U y=Et

T8 YTBHT €T Hdl6& fam 3gt dfemm?

T% UTSHT € AEUST € T 96 A&7

TE UTSHT © HU 3< 3 &¢ f&a?

% YBAT € Afed Yyt &t vy fermar=t fau?
TS YTBHT € A% 5 U Y8l 3 fea s faue

13
HOTST WUls UA™Y € ATfAT W3 miafaa o783

HIBIBIS UA™T & HAfsH it <t Afast fag fadt Ate
HIBIBIE Urrg & aird &9 fdent &t afgst fag fadt At?
HIBIBIS UAT™Y @ BaT HEdAS © ol ATUS I&7

HIBa&1& Ay fe9 feradtt € rfast fag fadt wi?
HITBIBIE UA™Y € mafga T7%3 €7 7YY 936 J97
HITBIBIE ATt a7 iy ger ot A?

HIST € »idts ary feg fAfanr v &t ygu At?

HIBITBIS AT & feert Su9 & 4y J'ed 979 AUy feg faa?
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14
HITHEHTT MEE™®BT @ OH® M3 UA™Y € HII® HTHS €7 U3&

nfoHeRT™g migeTst € oHfent € vy a9 fay?

foHerT maest € oHfent € ygre fau?

T WPWJ T TISS F37

ustyz &t I B3t € Jf fAe fsad?

nifoHeRg meest & AT §°Ud THT IH® & HUU S9S& J97
fryt €t ma3t & guse feg rfoveng nee st a8 mires faor A?
rfoHerTg meest € oHfent € iame 3 &t I3 ygre ug?
rfoHerTg maerst € oHfent € &t mrafaa yg= ue?

foHerT mEest € oHfent € dt AMaa yge ug?

15
fAy fimst €t €3ust 3 feam w3 €t & Hgy 3 Aaes

fur® rge 3 ot = J7° fumAst € 33Ut fa= get?
MBI BT A 3 &< feu?

it yerat 3 e faye?

fimsare feg fmfterdt €91 e S9es 97
JrH3T 3 &< foh?

&<y Jud fiw St res 3=t g <9e 8 997

AT W a1 879 gAY af Aree 97

fry st € Afed y&T &t vy fermas=' &t 957
gBaMT HAs 3 &< &Y

16
HITITHT 313 W e Ales wig faaT

HITITHT dH13 W € fies @ AU S9S& dd7

HITdHT d=d13 fiw € aret 3 9o A Ua'Y ©f g astf3d 983 fag faqt \i?

HITdHT d=d13 fiw € &9 3 MiTa™d 996 &7 @de& dd7?
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HaTaHT g3 finw &t fumst 3t 13t fam 3gt €t /e
HITTHT ISAI3 AW &t amile fA g @ <d<s d497

HITIT I3 i & 979 98 arat Y3t ot 313t mu=Tet?
HITIHT ISHIZ i €t ee €73 A3t e <9es 9397
fumr=g €t fA3 3 5< fog|

H&3I'E € fag 3 &< fa81

17
wWarda-Ay AST (1800 T1: -1839 ¥1)

1800 3° 1809 € 3 WdIdd fAY AYUT € Td<& dd?

#iH3Ag € AUt &t Ha3t M3 Ho 3< f&u?

f3s ydt At © 979 fgu?

HTSST & ¥Hd IH® € HY <9S8 J37

fedmus € yas 3 HoaaT I=H13 W 3 waeat € feg 3o fag* Uer g faprr?
fig € yas 3 HoaTaT I=H13 W 3 wieeat € Aut feg 3am fa€* Uer T famrm?
fAaTayus © YIS 3 HUaHT 13 fiw 3 adaT € AgTt 3 dt ygr= fumm?

18

I=HI3 W @ miearfanaTs &% AST m3 €W < €39 uait v a1t

Y a9 3 fea &< faur

Aue sfone bt 3 fea &< faa?

It fiw s=T 3 fea &< fau?

HITITHT ISHI3 fAw € A3 HIHe U™ 5% A9Y fag fagd As?

AHde ©f 37E 3 AUy &< fwu?

HITaHT IeH13 fiw €1 € 39-uat AT S1st er st Ho 3= 37

HaTaHT ISHI3 fiw € €7 39-uat AivT S13T @bt Wy ferma et @ Sdes J497
IH9 & IIE @ HU 3< T7 TISS A7
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HITTTHT I3 AW e ATRS Y§T

HITgHT IESHIS fiw € J'edt aAs yiT &t gu gy €17
HITIT I3 i © wirafaa yiT 3 &< fau?
HI9HT I3 fiw & fom ygu €73 &< fau?
HaTaT 3 fiwr € Y3t ygu 3 &< faur

HITaT I3 fiwr € refsa yaa 3 &< fay?
I3 € AT ygu &t ot femmsr=t As?

HITIHT I3 fiw € ArgitgeTdt yiu 3 Wuy &< faa?

20
IeHI3 AW e g 3 AYEHS

fea vay € gu fe'g HoaA™ aeH13 fiw 79 3T &t Aee 97

fea s ygua € gy fe9 HoamAT geH13 fiw 79 gt &t Aree 97
“HargTT I3 W fEd Hos Ag M3 7968 A fenrfamT 337
fea yama € gu f9 HagmT ge13 fiw g7 gt ot Aree 97
g3 fiw & Ae-g-Uary fag” fagr wier 37

HITgHT IeH13 fiw feq fenms 3 Bema i /t, fa=?

21
wagdT 3 fRut fegarg ufosT wu-a9s 3 &3tH

ufg® #as iy 9U © J9aT ©F HEU S9S& J97
HedT €t 337t 3 &< fau?
nITS & T3 3 &< fou?

AI9'E’ &t B3t 3 &< foy?

»TJ9 €1 AT (9 W99, 1846 T1:) I AUY &< fea?
go=s <t At 3 Fuy &< fau?

ufg® #as iy gu © 3t e 9cs 9497

ufo® #ad Ay gu fue weew & Ay § fgfew miaw fee mivs fag sat

J3T?
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EHaT Waed M3 Ayt e gu-a9s 3 53H, I 9 &

B3 oH MJS fAY U € 96T €7 AYY IS5 J37

o fafeniesT &t ®3ET 3 AU &< fBy7?

<  d=7s ysaH € feedy 3 iy &< feu?

2 JH9T € 939 fAw © fewda 3 Ay &< fau?

<  THIMIS MY AU E &t yg= As?

2 HITHT 231U w3 fea &< faur?

% W9t faet 3 Auy &< fege?

B3 A & #aewt A fe 9 g8 fe'g wo feremwrs At? Ay S35 J37
e 3BJHT & UAg €3 aud € 318t @ Uy feu estst fef

15 Wt B YAS

Hrsfa3qg
HT&sfg 39 995 & 10 M

gd 9% Idd AETS €1 20-25 Aygat fayg fenrfum a95 @ 5 Wid 751

<+ 1947 €: 3 ufgst € Uag € wafe g fTT ag Jiffe fiu At St st €
s feu§ w3 8ot Aarst €t fengrg ya=a femrfmr a47

<+ 1947 € 3 ufost € {Ag € Wsfo 39 fe9 ger gured & Ho 3<Yds B3t &
s feu§ w3 Bt Aarst &t fengrg ya=a femrfmr a47

< 1947 € 3 ufgst € {Arg € Wafa 39 f9 HagmT g1 fiw &t fast € e
feu® W3 ws fo'39 fe'9 99 e FEst &t fenrr 337

< 1947 € 3 ufgs’ € U7e € Hafe 39 fog ufod #Wa@ iy 9 © ras feu§ w3
WTSTe 39 f<9 99 a1E maTst € femmfienr 997

<+ 1947 € 3 Ufost € (A9 € Hafe 39 oo gn W8 Ay 9u © res few§ »3
Wsfe 39 feg 99 e marst & fenrfipnr 937




AU® Yyg-1 (fefgam)

AHT3 (10+2)
AHT : 3 We I8 WA : 90
(&) A9 yHs Agdt I |
(M) YRS UITE 4 FaTI&| €, 0, €, A M3 g8 28 Gusmar (Yaat) 3513791 (§) feg 1
3 10 3 1 #A TB YHS I, TI1 () feg 1 3 10 3T 3 wiat 8 YAs 9%, I7aT
() feg 10 yrat feg det 7 yAs 994 95, 99d YHS © 5 Wd I6, 371 (7) feg fe 3
e € Hsfg 39 feg fan fea afa 39 € AEst § 995 © 10 Wd w3 EgF &t
fenfum g9 € 5 % I51
a1 (§)
1.  H'J YHE Hgdt I&| 1x10=10

(i) W= fag Afgz 37

(i)  ‘Fro-gar-g-UaAy faw €t gg&T I7

(i)  JrOHt T wigfed gu fam & um Ai3™?

(iv)  J1g I3aifde /it & #iH3ng feg faos fag e fagnre gaerfem?

UTB A9TS 99 -

(v) widomgergefuadt_ A

(vi) J1g 39T UTEd Al WIS U3 33 A gy 88 7 fag A, nim a g fem er
&t g

(vii) 18T A<t @ wg feg ot feu sd fag &t 8wdt a3 fiw
& ga<Tet |

Adl/a83

(viii) Tdt W sB<T I3 fi er fe g adt At

(ix) Ufo® fAY-7319d U AN JSI6d A6IS BTdF JTIfSdT AT
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gufeasut yas
(x) TH IS -AY §U S 22 5299 1848 € § BIE! fa g B3t aret

(8) IHEIT () MBITH (T) Ta<& (H) HaaT

g7dr ()
A'd YHE Hgdl I8 - 3x10=30
(i) M3 AHIUE 3 ot g7 J7
(i) Y mifore Aafd<t < Hi?
(i)  Jg gagTfe A € Hed Aes g9 f3y|

(iv) YIS UBHAT &% 3 ol I'< HI?

(v) HeTgJ7ed & ARdT 3 oHET faf JigT?

(vi) Ia3 Ife § ae w3 a8 mate 3T famr?

(vii) g9 €y fiw d< As? 88T & a¢ Adtet YUz Si3t?
(viii) A% % € Afesa ydu &t g€t {35 femmsr=t en|
(ix)  HI9HT ISz i wls €3 feurs fad fagr Fte
(x) 9<% € AUt ge JeI? ferett aEt € Ha3T R |

g7dT (T)
et A3 YIS &9 - 5x7=35
(i) IHE™YLET (HIH3AI) & AarusT T fAy fefsam feg ot vo3= J7
(i)  wfe dE 3 &< &y

(iii) YHdd < JUu I &< f&y|

(iv) Hie g &t Ayt fegu »Aes3T € &t a9s Aa?

(v)  HIBABIE Uae feg H6dns € ot AU AS?
(vi)  J1g J3aifie /it € W% grengt &% fad fAd Adu Ae?

(vii) HIZI B furs I &2 faH|
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(viii) fAITIYT T YAS 3 HIITHT ISHIS W w3 wgewt € 1EUt feg 35 fag”
Uer gfemm?
(ix) JaaT & 939 fiw &t gares 3 &< f34|
(x) HYHAY 3 &< &y
g7dr (H)
H'&f939 3995 © 10 % 76

g9 JIT I AETS ©F 20-25 Ayt feg femomT a95 € 5 Wia 351

1947 3 ufgst € Tag € Wafe3q fe gig Jifde fitw &t St 33vett € 5 rEms
feuG w3 G marst €t femrfon g4

At

1947 g1 3 ufas™ {Ag & Uafg 39 feg HaraaT a3 i &bt fA 3™ € 5 AgTs
fe& w3 85t marst € femrfn g4
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AU® Yyg-2 (fefgam)

743 (10+2)
AHT : 3 UWe I8 WA : 90
(&) A9 yHs Agdt 35|
(M) YIS U3IIT 4 Fa1I5| €, g, A M3 g5 28 Guaar (yrs™) g1 3741 () feg 1
3 10 39 1 WA T YAS I, 9T () feg 1 3 10 3T 3 #aT T8 YA I, 7T
() feg 10 yis' feg' At 7 Y& d98 I8, 30 YAS © 5 Wid 96, 97T () feg fe s
I € Hafe3a feg fan feq Hafg3e © Aas™ & 395 © 10 »d w3 8T &t
fenmfumr g9 € 5 % I51
g1 (§)
1.  H'JYHS Hgdt I5| 1x10=10

(i)  HIgHT geAI3 fAw € g <t gAuTst fagst At?

(i) 9 a76d €= At ufgst et Tava miAH few faw gar3 § Ha?
(i) I »IeH H fauSt Ova feu Ay 92 w3 fan Gve feg T@ 57
(iv)  dfavreqd arfag feg wrfe d@ e yam o 13T faprr?

Y3t AETS 99 -

(v) fAurerss agdter s M3 et e ag % ATl
(viy Hefg_ T y3dH

(vii)  UTStuZ €t At 3Tt w3 fegara J&t At?
Ad1/9% 3

(viii) JEH3T S 1705 T feg uaH a9 fe 3T famrmi

(ix) 9 gHA fed SatHHT AaTu3t Al

ggfeasul yrs

x)  geat iz faus efenrr € Syet grar feg At?
(&) o (o) AIBH (8) I7<T () frrga
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gTdr ()

A'd YHE Hgdl I8 - 3x10=30

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)

‘gfg'3a aTea’ ot 97
fegqgmarg d= J€ AG?

J1g Jaditae t & Jaarel e 3 e faus aamt g § aas 3T Ai?
a9 fadg d Hi?
919 diffe fiw 7t & e suree § Uary fev faus G<w & fmum At?

»EeH AHE 4t A fryt & »rue miry @ fa= Aarfes a1em?

T8 UTBAT ¥ {35 HY yg= &t ug?

HIBITBIS AT @F U fags-faus onf 578 9%eT Hi?
f3® Ut Aat =7 vy 8w ot Hi?
HE ¥ € gy feg geit3 fiw € 3= gre env

g7dr (¥)

et A3 YIS &9 - 5x7=35

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)
(x)

319 IHEH 1t & Ay ToH € feam feg &t Gares fe3m?
919 J3fqrs 7t 3 fea &2 fay|

WMIATH IUI T ¢ fBu|

HAE ygT € fed™ 3 Ha1ss € 9997 J4

Hadbd™ Yt & fAyt fegu fag fadt 15t mu=Tet?
foHera mae st € oifen € iare '3 ooz awsifsa ygr= uer?
gt g 3 & fau

fapur?

HITI™HT I3 i &t €°39-uaHt i S13t @ &t Ho 3= HI?
HaTgTeT freT 3 Ay &2 fay
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gTar ()
H&fg 33 995 & 10 WA I&

g9 I I AES ©F 20-25 Ayet feg femforr gas € 5 Wia

1947 g 3 ufgst € IFmg € Wsfa 39 feg ger goreg &t W 3<yas B3t &
aet 5 mas feu§ 3 8«7 AaTst @t femtfnr g9

Hr
1947 €: 3 ufas IF € g1 HIS Ay §U © Ags feu® 3 Wafase feg 59
AETSt &t fenfanr a9 |
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